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Answer all the questions.
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Every question is of two marks.
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There are no negative marks for incorrect answers.
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At the commencement of examination, the Question
Booklet will be given to you. In the first five minutes, you
are requested to open the Booklet an compulsorily examine
it as below:

Tally the number of pages and number of questions in the
Booklet with the information printed on the cover page.
Faulty Booklets due to pages/questions missing or
duplicate or not in serial order or any other discrepancy
should be got replaced immediately by a correct Booklet
from the invigilator within the period of five minutes.
Afterwards, neither the Question Booklet will be replaced
nor any extra time will be given.
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Give one answer of each question in a separately provided
OMR answer sheet.
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Rough work is to be done on the back of printed
papers.
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There are four optional answer of each question which
have written A, B, C, D in English and &, 9, ¥, € in Hindi
respectively. Candidate is required to darken the correct
options of the answers of each question in the box given
against each question No. on the answer sheet. Use only
blue/black ball point pen.
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If you write your Roll No. or put any mark on any part of
the Answer Sheet, except for the space allotted for the
relevant entries, which may disclosed your indentity or use
abusive language, you will render yourself liable to
disqualification. Carrying or use of copying material,
talking with another candidate during examination is
prohibited. Mobile phone or any electronic equipment is
prohibited in the examination hall. If any of the prohibited
material or any complaint is received against any
candidate, necessary action as per rules will be taken
against such candidate.
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In case any of the candidate is found to copying or any
unauthorised/prohibited material is found form his/her, an
FIR shall be lodged in the Police against that candidate
and action will be taken under Rule 3 of the Prevention of
Unfair means Act, 1992. Such applicant can be prohibited
from appearing in all examination in future.
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The English version will be treated as standard in case of
any ambiguity or printing mistake.
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It is certify that the verification of the candidate has been
done as per the photographs pasted and also signatures
given on the application form. It is stated that he/she is the
same candidate who has applied.
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1.  “The economic environment of any business is created by the factors/elements related to
economic conditions, economic policies and economic system”. Who said so?
(A) Wheeler (B) Weemor
(C) Francis Cherunilam (D) W. Lewis
AT § TG "ehi /Tl & gRT 8IdT & | I8 fhas a1 87

@) =R @ O
@) iR Fefm @) s g
2.  “Indiais a rich country, but its people are poor”. Who said so?
(A) Entsey (B) Lewis
(C) Marshall (D) Pigou
“qRA UH g 9 7, fhg s Al fe= 8| a8 fa #8157
@ T € o
G)EEINE (@ 9L

3. TRIPS stands for -
(A) Trade Related Investment Policies.
(B) Transactions Related Investment Policies.
(C) Trade Related Intellectual Property Rights.

(D) Transport Related Inducement Policies.

fewq (TRIPS) =1 & & @7 &7

@n <R g fafErr i |

@) < geatug fafarr Sifot

() YR AR difgd dUaT IER |
(@) uRasd FHd yam= AT |

4.  Settlement of trade disputes between different countries is a function of -

(A) WTO (B) EXIM BANK

(C) IMF (D) WORLD BANK

fafa= <o @ weg @R @ SRa fQael o 99Eidl gRT e feaer a7
(@) segram CENESEICE

() IME.YAID. @) fawa 9@
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5. MFA in WTO relates to -

(A) Textiles (B) Investment
(C) Agriculture (D) Services
Sy L3N H THUB.Y. fhasy wefid g?
() a= (@) faferamr
(@) =i (@) @y
6. The following is not the advantage of privatisation -
(A) Improvement in efficiency (B) Increase in Public Welfare
(C) Increase in Profitability (D) Better management
1 7 & fFoiexor &1 BT v T8 7 —
(1) werdr H guR @) od HT H gig
() e | gfg () d8R Y&eH
7.  Relaxation in the regulation and controls by the government is called -
(A) Denationalisation (B) Globalisation
(C) Liberalisation (D) Privatisation
WHR gRT i v Fa=oll § ISRAT & FEd 8-
(31) foRTERIBROT @) dedrHRor
(d) SERIHRT (@) fAoirexo
8.  The following is not the characteristic of globalisation -
(A) Expansion of Markets (B) Efficient utilisation of Resources
(C) Selling of assets (D) Cultural and Political Integration
=1 4 BT TRl HI faRivar w81 87
@ 9IOIRI @1 faRdaR @) A B gars YA
(4) R B 99 (8) WRGMIH Yd AoHID T
9.  Which of the following is related to micro-economics?
(A) Inflation in the economics (B) Problem of unemployment
(C) National Income (D) Income from the Railways
= # | e e 9 R HUF g 2?
(31) refeTaReT H HERWIMT @) RIS B FAT
@) g ey (&) NI gRT T I
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10.

1.

12.

13.

14.

Who gave the wealth definition of economics?

(A) Adam Smith (B) Samuelson

(C) Marshall (D) Robbins

3FJRTE B g—YeT gRETT fha=T <1 &7

(1) ved Reer @ e

(&) wrefa @) o=

In the case of inferior goods, the income elasticity of demand is -

(A) Positive (B) Zero

(C) Negative (D) Infinite

e awgall ® ART @1 o dAra T BRI

SINENISED @ SR ()

(%) RoTHD (%) o=

The following good is an exception to the Law of Demand -

(A) Normal good (B) Inferior good

(C) Giffen good (D) Capital good

1 3§ 9 S TR °i1 @ 99 @7 smare 87

() W A @ fa< ag

@) Ffe g @ i g

If the Quantity demanded does not respond to a change in price, the demand is -
(A) Elastic (B) Perfectly Inelastic

(C) Perfectly elastic (D) Inelastic

afe ARN ST arell A3, @M | aRadd | warfad 81 8kt 8, S AT &I $ed © —
(@1 dEER @) Yoiaar daERR

() Yoiaar deRR (@) dArEER

These goods which are used together are known as -

(A) Substitutes goods (B) Giffen goods

(C) Complementary goods (D) Inferior goods

9 B U o BT AN O 9G B A9 H AE] PR T, ST DB o—
(@) o= vy @) Ffe et

@) Tw e @ e Tl
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15. If the consumer spends a very small portion of income on a commodity its demand is said

to be -
(A) Elastic (B) Perfectly Inelastic
(C) Inelastic (D) Unitary elastic

e IuMreT fhdl 9 WR (Ul 3R BT 98d HH Wd bRl © a9 SFDI ART DI HEl
ST —

(31) drEER @) Yofaar JerERR

(EEIEEN (@) UPIHD ArEER
16. When marginal utility is negative, the total utility -

(A) Becomes zero (B) Becomes negative

(C) Increases (D) Decreases

STd A YR F TS ©, A1 Bol STARAr sRf—

@) T @) o B

(&) gfg sri (@) @& BRl

17. The Law of constant returns would operate when only labour input is increased by 20%
and the total output -
(A) Increases by 10% (B) Increases by 20%
(C) Decreases by 10% (D) Increases by more than 20%
HANTA IUTGA FAAT FRM & IR S1d ddel SH® & A& 20% ¢T3 oIl & ad

Bl SeTG ERT—

(31) 10% @ <% ¥ gfg Brf @) 20% @ =R & gfg Erf

(@) 10% B <X | HH Bl @) 20% ¥ @ <% gfg erf
18. All money costs can be regarded as -

(A) Social Costs (B) Opportunity Costs

(C) Explicit Costs (D) Real Costs

|1 Aifad ArTd—

@n \AMHI® ARt @) &R AR

([) W aRd (&) arafdd aArTd
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19.

20.

21.

22.

23.

Purchase of raw material is an example of -

(A) Prime Costs (B) Overhead Costs

(C) Shutdown Costs (D) Administrative Costs
Hed A DI RIS [BADT IATERIT o—

(@) T AT @) sfaRgs dNTd

(9) wcersH onTd (@) wemE S AT

Demand curve is also called -

(A) TR curve (B) MR curve

(C) ARcurve (D) MC curve

AT 9 BT 7§ 9§ 0 Bl S B

@) <1 IR Tk (@) TH AR dh

(@) U 3R Th (@) UH Al gp

In which form of market a firm cannot determine the price -

(A) Monopoly (B) Perfect Competition
(C) Monopolistic Competition (D) Oligopoly

AR B fHE ERATT § T B DT BT FROT T8l B Faell —
(31) UBIMEDHR @) goi ufcrnfrar

(@) USRS T () oTHTRIBR

Under which market firm produces homogenous product?

(A) Imperfect Competition (B) Monopoly

(C) Perfect Competition (D) Oligopoly

IR BT (b e H ®BH A 9% IdTfad Rl &7

(31) orgel ufcrarraT @) UPIRDR

(&) goi gfofirar () oTHTRIBR

Selling costs play on important role in the following market-

(A) Monopoly (B) Oligopoly

(C) Perfect completion (D) Duopoly

= o 9 59 a9R ARaAT | fasa anTd ge Agyel e el g
(31) UBTEBR @) SreUTEeR

(@) goi gfan @) suREreR
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24. Under monopolistic competition normal profit is earned when-

(A) AR=AC (B) MR =MC

(C) AR <AC (D) AR > AC

UHIEeRIHH gfaaiiiar # faa Refa #§ | am eifvia far Smar 272

@) AR=AC @) MR =MC

(d) AR <AC () AR >AC
25. Inlong term under perfect competition firm earns -

(A) Loss (B) Nothing

(C) Abnormal profit (D) Normal profit

qui gferirer # dreidra § v AfSia eRar &—

(@) & @ oo T

(|) S™mE Y (]) <M= oY

26. A market with many sellers producing differentiated goods in called-

(A) Monopoly (B) Perfect Competition
(C) Monopolistic Completion (D) Oligopoly
TP TR e foRed 9ga | fasmdn - awgell & e axd 2, 9 dEd 27
(31) UBIMEDHR @) goi ufcrnfrar
(@) vHIEBRIHS Ffcrrar (@) SreuTferpR
27. A perfectly competitive firm gets only normal profit when
(A) MC=MR (B) AC=AR
(C) AC<AR (D) MC=AR
gof gfaaIfar H @& ST Td A= & YT BIal §, 9 —
@) MC=MR @) AC=AR
(d) AC<AR () MC=AR
28. After 1991, the highest growth rate in the industrial sector was recorded in the year-
(A) 1994-95 (B) 1995-96
(C) 1996-97 (D) 1997-98
1991 & Yad, JAENfd & # Af¥had gig &1 <R b avf § Rere o 15—
(@1)  1994—95 @) 1995—96
(d) 1996—97 (]) 1997—98
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29.

30.

31.

32.

33.

The actual growth rate of industrial sector was the highest in the-

(A) VIPlan (B) VII Plan

(C) VIII Plan (D) IX Plan
AN &3 H gig <) fbg IIoHr H it off—

@1 VI ArSET @) VI 3rsrn
(&) VI IroiT (&) IX Iromr
Primary sector does not include-

(A) Agriculture (B) Forestry

(C) Construction (D) Fishing
UIIAd &3 @ a1 H W B ey |fferd el 87
(@) wfN &= @ a9 e

) foeor B (]) #oel e
NABARD was established in the year -

(A) 1985 (B) 1987

(C) 1982 (D) 1986

qrars fhd 9y # iU gar or?

(@) 1985 @) 1987

() 1982 () 1986

NEFT stands for -

(A) National Electric Fox Tool (B) National Ex-Im Fax Transfer

(C) National Electronic Fund Transfer (D) No Electronic Fund Transfer
NEFT & 31ef @1 872

(@) T faSTell haw A= (@) T Tfdom he gwR

([A) IR elagl=1dh HUs CIRAHY @) I T SAdCID HUS TTAHY
In which year the nationalisation of six commercial banks took place?

(A) 1980 (B) 1986

(C) 1983 (D) 1985

frd av § ©: FOIRE Tbl BT ILIHROT fHAT TAT 217

(@1) 1980 @) 1986

(@) 1983 () 1985
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34.

35.

36.

37.

38.

Reserve Bank of India was established in which year?

(A) 1770 (B) 1865

(C) 1913 (D) 1935

Rord d& oife sfvsar fo oy & <enfud fasar ar oar?

(@) 1770 @) 1865

(|) 1913 () 1935

Which is the first development bank of India?

(A) IBRD (B) IDBI

(C) IFCI (D) ICICI

YRA ¥ Ugal fdbr deb bl o7

(d1) IBRD (@) IDBI

(|) 1IFCI () ICICI

Virtual banking is also called -

(A) Universal Banking (B) Internet Banking
(C) Merchant Banking (D) Plastic Money
aRarel dfhT BT W wEd T

@)  gfrasicr dfe @ sexre dfHT
(@) #d=e dfe @) wRc®d gar

When a country imports any commodity from any other country and exports this very
commodity to any third country, it is called -

(A) Export Trade (B) Domestic Trade

(C) Import Trade (D) Re-export Trade

S U <3 Bl o= <9 A Bl 9% &7 T R Sl 9% bl fhdl R < Bl
Frafd #x a1 8, S ®ed o—

(e7) frafa @mrR @ o AR

(|) oMATd AUR @) YT i AR

“International trade is a special case of Inter — regional trade”. Whose statement, it is?
(A) Prof. Bertil Ohlin (B) Pereto

(C) Kindleberger (D) Prof. Harrold

“IRTETT TR R — &3 ATUR BT U fARe g9m 27 | I8 S+ fhd- $a—
(@n) I Il sMEfe @) Wer

@) frsae @) W Ies
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39.

40.

41.

42.

When customs duty is levied, with the objective of raising the revenue, it is called-

(A) Entry tax (B) Protection tax

(C) Property tax (D) Direct tax

S9 fodl ff g R HYeH SN, A 9o b IS W e IR 7, IH HEd 2
(@) e PR (@) =T B

(@) \fT (@) ucuE X

Difference between total exports and total imports of any country is called-
(A) Balance of payments (B) Balance of trade

(C) National balance (D) Equilibrium balance
<l <9 & o AT Ud Bl AT & <R Bl el & —

(@) T ¥iger @) =R Wge

@) & Her (@) Wl A

Invisible trade includes -

(A) Movement of capital

(B) Banking, Insurance and shipping services
(C) Payment of interest

(D) All of these

3T AR # a1 |ifera 27

(31) USHT @T SmarTHA

() e, drar vd Rt Fard

@) =S BT I

(8) SWRIEd w4l

The countries who signed the declaration of the Bretton woods conference are called -
(A) Original Members (B) General Members

(C) Main Members (D) Last Members

I8 I el dTgsd I & FHSId IR EXIER 3y, I8 hedi—

(@) Hifere Ae=T @) A G

@) = e (@) sifw 9w
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43.

44,

45.

46.

Which is not the publication of International Monetary Fund?
(A) Balance of payments year book

(B) International financial statistics (monthly)

(C) LM.F. survey

(D) International trade survey (yearly)

STH W RIS a1 BIY & & YBREl H A BT T8 57
(1) T AgeT A

(@) iy facia wiRerar (W)

(9) oIS, UA. U%. Haefo

() ORI IR FIeToT  (aTfia)

International Monetary Fund introduced special drawing rights plan, in ........... to

increase international liquidity.

(A) 1978 (B) 1972

(©) 1970 (D) 1980

RIS J&T BIY A [T JATER0T DR AT, RIS TReAdT | Ifg B & forg
6 Y& Dbl ol |

(@) 1978 @) 1972

(|) 1970 () 1980

World Trade Organisation has much more................... as compared to GATT.
(A) Statutory Powers (B) Political Powers

(C) Restricted Powers (D) Consumers Rights

feq IR e § RF oo g, GATT &I galr 9 —

@ wdurfee et @) romfae Sifdar

(@) wfosfea s (@) SUHERT & ARTHR

The head office of WTOisat ....................

(A) Geneva (B) Washington

(C) Paris (D) South - Africa

feq MR e (WTO) &1 JRmerd R 8

(@1) SHar @ arfefTed

@) uR«s (T) AT — FMHIPT
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47.

48.

49.

50.

The major exports of India are -
(A) Tea
(C) Leather

(B)
(D)

IRd & Y@ fafa 9 affod € —

@) =™
([) TS B A

(@)
(3)

EXIM bank was established in the year-

(A) 1980
(C) 1985

(B)
(D)

U d6 BT oA fod 9§ § a1 8 ofi—

(@1) 1980

(@) 1985

The main objective of IFC is -
(A) Promotion of public sector
(C) Promotion of private sector
IFC &1 4% S0 &1 & —
@n wrdSIe &5 @I g
SIRESIRERICHE

The main objective of IDA was -
(A) To provide social capital
(C) Long term capital

IDA &1 I3 I53d 31 87

(31) ST Yofl U el

(|) <Pt Sl U™ R

(@)
(2)

(B)
(D)

(@)
(2)

(B)

(D)

()
D oo

Coffee
All of the above

PIBT
SRESERLI

1982
1987

1982

1987

Promotion of Government sector

None of the above

IRBNI &3 DT ggral
STH A PIg TR

To provide development capital

All of the above

faep™T Yoil &I Rl

SRESERLI
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